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tth T 2% = 500kg MER/ NJLVBTHED HKERE S

f+5 210, 4E210 500kg MR, FEBRMM CH, : 90mol%. HFPIEE : 10°C, FEFEER : 107C
2101, @211 500kg MR, FEEFMR CH, : 90mols, HPIRE . 5°C, FEEAER :5°C
fTE 212, 212 500kg #R, FIEHMAICH, : 0moi%, MPIRE - 0°C. FEEFEER: 0°C

1% 210 500kg 4R, FTHEFFMARICH, - 90motk, HEFRE : 10°C, FIEEFER : 10°C

FeiEprTErE | Mhoh | FEIE | EARE | BEE 15wty | BiEEBoowth | BEFIOW | B E40wth | PREES0wWS
Josivy | BE| R | RO | Bss | e | B | 2 | BRA | Rt | AN | Remn | BIIE | REmn
mo) )1 () | o) | e/ L CC) | /i) | 0°0) | tke/h) [ CC) | (kg/h) | C°C) | (ke/h)
90 10]10] 10 1| 164} -3 212 -8 307 -of 422] o 538
15 4| 12| -3t 1a5] -] 209] -2i  289] 2| 368

20 1 87] 3] 112] -s| 1610 -2| 222] o 284

3.0 -2 60] -4 771 e 113] -3 154] 1] 197

40 -2 47| -2 61| -6 g8l -3 121 1l 155

5.0 -3 39 -a 51 -6 74| -4l 100] ol 129

6.0 -4 33| -a 45| -7 64| -4 g8l o 113

70 -5 298] -2 401 -7 571 -5 771 -1 100

8.0 -5 27| -5 36] -7 52| -8 70| -2 9.0

1% 211 500kg HtE!, FiEEHERE CH, : 90mol%, MHipBREE - 5°C. FERFEER : 5°C

FEIHESAE | Morh | FEIE | Y | EEEIowty | BEEoowty | FEEEIowy | IR EAOWs | BIEE50wt
Oy | RE (R | R | BAis | sk | BOIR | Reksen | BEA | sedseh | BRUB | mamen | BOIS | &R
(motd) 1oy | thy ey | ke/my | O] (herh) [ (FC) | k) [ O | (ke | (PC) | thgsh)
90 5 |5 1.0 o] 142] -3| 188] -8 2650 -g] 356] -5 458
15 -2 97! -4 126] -8 181] -9 240 -5 311

20 -2 715 s 96| -8 139] -of 184| -5 239

30 -4 50 -6 66| -3 97| -e¢| 128] -8 165

40 -5 39| -7 510 -8 76| -10 99| -6 129

50 -6 32| =7 42| -8 64| -10 83| -71 107

60 -7 97| =7 37| -s 55{ -10 72] -7 93

7.0 -8 23| -7 33| -8 49] -10 64| -8 82

80 — 21| -3 30| -8 45 -11 57| -8 74

%212  500kg fR, FIEBHMRLCH, : 90mol%, HEARIEREE : 0°C, FTIEEEKR : 0°C

Feilpeade | Mhoh | FEdE | GEEGH | BEEISwWE | BES20wty | BIESI0wts | BB EA0wts | BIEE50wt:
TJOuv RE|ER | BEE | B9 | steen | BR5E | sesien | BB | seen | BSE | Redmeon | BE | Emn
(mo) {Cey ey th) [ ey | e/m) {(°C) | Geg/h) [(°C) | tka/h) [CC) | (ke/h) | (FC) | (ke/h)
90 0| o 1.0 10| 100| -s| 14s5] —v1| 220] -14] 290| -12] 373
15 -10 68| -9 09| -11] 150] -151 195] -12} 254

20 -10 52 -9 76) -11]  115] -15]  149] -12] 194

30 -10 36| -10 52{ -11 80| -15] 103 -13] 133

40 -10 29| -10 4.1 =11 62| -15 80| -13 104

5.0 -10 24| -10 34| -11 52| -15 6.6 -13 8.6

6.0 -10 21 -10 20] -12 44 15 57| -14 13

7.0 -11 18f -11 26] -12 39| -1s 50] -14 6.5

8.0 -11 16| -1 23| -12 36| -16 45| -15 58
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R 212 500kg#tE!, FEIEBEMRCH, : 90mol%, HuciERE : 0°C, FIHBEEE : 0°C
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